Case marking of subordinate clauses: The role of
aspect

Pavel Caha Veronika Kloudova

Masarykova Univerzita

Project meeting
7 July, 2022

1/24



Outline

Introduction

Some background on Tense/Aspect

Back to Czech

Conclusions

2/24



Outline

Introduction

3/24



Introduction
Hualde & de Urbina (2003: 712-3): “The complementizer -ela gives rise to

subordinate clauses that have either a temporal (simultaneity, not
specifying a particular moment in time) or modal value [...] ”

4/24



Introduction

Hualde & de Urbina (2003: 712-3): “The complementizer -ela gives rise to
subordinate clauses that have either a temporal (simultaneity, not
specifying a particular moment in time) or modal value [...] ”

ela-rik: “This [is] a dialectal variant of modal/temporal -ela, formed from
-ela + rik (partitive, adverbial). [...] Here are some examples of -elarik:”

4/24



Introduction

Hualde & de Urbina (2003: 712-3): “The complementizer -ela gives rise to
subordinate clauses that have either a temporal (simultaneity, not
specifying a particular moment in time) or modal value [...] ”

ela-rik: “This [is] a dialectal variant of modal/temporal -ela, formed from
-ela + rik (partitive, adverbial). [...] Here are some examples of -elarik:”

(1) soldado z-elarik, ezagutu [zuen] euskaldun batzuekin.
soldier was.elarik know AUX Basque some.with
’...while he was a soldier, he made friends with some Basques.’

(simultaneous)

4/24



Introduction

Hualde & de Urbina (2003: 712-3): “The complementizer -ela gives rise to
subordinate clauses that have either a temporal (simultaneity, not
specifying a particular moment in time) or modal value [...] ”

ela-rik: “This [is] a dialectal variant of modal/temporal -ela, formed from
-ela + rik (partitive, adverbial). [...] Here are some examples of -elarik:”

(1) soldado z-elarik, ezagutu [zuen] euskaldun batzuekin.
soldier was.elarik know AUX Basque some.with
’...while he was a soldier, he made friends with some Basques.’
(simultaneous)

Hualde & de Urbina (2003: 713) “the range of temporal values that the
eastern suffix -elarik may have seem wider than simple simultaneity:

(2) Lanabukatzen duzularik, afaltzerat joango gara.
job finish.IMPF AUx.elarik dine.NOM.ALL go.FUT AUX
"When you have finished your job, we will go to have dinner.
(posterior)

4/24



Introduction

(3) Kdyz psal ten clanek, zpival.
when he.wrote.IPF that article, he.sang.IPF
While he was writing the article, he was singing.” (simultaneous)

5/24



Introduction

(3)

(4)

Kdyz psal ten clanek, zpival.
when he.wrote.IPF that article, he.sang.IPF
While he was writing the article, he was singing.” (simultaneous)

Kdyz na-psal ten clanek, zpival.
when on-he.wrote.PF that article, he.sing.IPF
After he wrote the article, he was singing.’ (posterior)

5/24



Introduction

(5) Kdyz psal ten clanek, pripalil vecefi.
when he.wrote.IPF that article, he.burned.prv dinner
While he was writing the article, he burned the dinner’

6/24



Introduction

(5)

(6)

Kdyz psal ten c¢lanek, pripalil vecefi.
when he.wrote.IPF that article, he.burned.prv dinner
While he was writing the article, he burned the dinner’

Kdyz na-psal ten c¢lanek, pfipalil vecefi.
when on-he.wrote.PF that article, he.burned.Prv dinner
After he wrote the article, he burned the dinner’

6/24



Introduction

(7) Kdyz bude psat ten clanek, bude zpivat.
when he.will write.IPF that article, he.NEG.will sing.IPFV
While he is writing the article, he will be singing.’

7/24



Introduction

(7)

(8)

Kdyz bude psat ten ¢lanek, bude zpivat.
when he.will write.IPF that article, he.NEG.will sing.IPFV
While he is writing the article, he will be singing.’

KdyZz na-pise ten clanek, bude zpivat.
when on-he.write.PF that article, he.will sing.IPFv
After he writes the article, he will be singing.

7/24



Introduction

(9) Kdyz bude psat ten clanek, pripali vecefi.
when he.will write.IPF that article, he.will.burn.prv dinner
when he will be writing the article, he’s gonna burn the dinner!’

8/24



Introduction

(9) Kdyz bude psat ten clanek, pripali vecefi.
when he.will write.IPF that article, he.will.burn.prv dinner
when he will be writing the article, he’s gonna burn the dinner!’

(10) KdyZz na-pise ten clanek, pripali vecefi.
when on-he.wrote.PF that article, he.will.burn.PFv dinner
After he writes the article, he’s gonna burn the dinner.

8/24



Outline

Some background on Tense/Aspect

9/24



Some background on Tense/Aspect

(11) Reichenbach (1947)
a. event time = time interval when the

10/24



Some background on Tense/Aspect

(11) Reichenbach (1947)

a. event time = time interval when the
b. utterance time = time interval of speaking

10/24



Some background on Tense/Aspect

(11) Reichenbach (1947)

a.
b.
C.

event time = time interval when the

utterance time = time interval of speaking

reference time = time interval for which | am making the
assertion

10/24



Some background on Tense/Aspect

(11) Reichenbach (1947)

a. event time = time interval when the

b. utterance time = time interval of speaking

c. reference time = time interval for which | am making the
assertion

(12) a. relationship between event time and reference time =
aspect
b. relationship between speech time and reference time =
tense

10/24



Some background on Tense/Aspect

a. Tense
Past
AST-T  UT-T
e e e e
b. Aspect
Retrospective

EV-T AST-T
)

c. Time adverbs
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1924 AST-T/EV-T

| =1 =

Present Future
UT-T UT-T  AST-T
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AST-T
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AST-T AST-T  EV-T
N S e o e S
EV-T
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ATm/\

Aain /\
WITHIN ATi
THE REL.CLAUSE
AT, CLAUSE

kdy-2 AT, ..
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